
Item code
D170130100

Item code
D100130300

Distributore rotante 13 vie
Swivel joint 13 ways

Distributore rotante 13 vie
Swivel joint 13 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 M18x1.5 M18x1.5 10 350 Hydraulic Oil
2 M18x1.5 M18x1.5 10 350 Hydraulic Oil
3 M20x1.5 M20x1.5 14 30 Drain
4 M14x1.5 M14x1.5 10 350 Hydraulic Oil
5 M14x1.5 M14x1.5 10 350 Hydraulic Oil
6 M14x1.5 M14x1.5 10 350 Hydraulic Oil
7 M14x1.5 M14x1.5 10 350 Hydraulic Oil
8 M14x1.5 M14x1.5 10 350 Hydraulic Oil
9 M20x1.5 M20x1.5 14 350 Hydraulic Oil

10 M20x1.5 M20x1.5 14 350 Hydraulic Oil
11 M14x1.5 M14x1.5 10 350 Hydraulic Oil
12 M33x2 M33x2 22 350 Hydraulic Oil
13 M33x2 M33x2 22 350 Hydraulic Oil

 M12 n.4 

 17 n.2 

 25° 

 25° 

 2
5°

 

 33° 

 33° 

 2
2°

 

 23° 

 20°  14° 
 36° 

 25° 

 240 

 112 

 7
8,

5  1
42

,5
 

 1
84

,5
 

 3
34

 

 1
5 

 131 

 9
1 

 6
2 

 4
7 

 168 

 2
0 

 3
5,

5 

 1
21

,5
 

 2
27

,5
 

 3
12

,5
 

 2
77

,5
 

 2
49

,5
 

 2
05

,5
 

 1
63

,5
 

 1
00

,5
 

 5
6,

5 

 3
58

 

 4
0  2

3 

 1"G 

 4
72

,5
 

 22 
 M25x1.5 

1

2

3

4

5

6

7

9

8

10

11

12

13

12

11

10

8

6

4

2

13
12

8

9

7
5

4
3

1

STATOR ROTOR

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9

10
11
12

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
2 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
3 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
4 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
5 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
6 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
7 1"G 1"G 22 300 Hydraulic Oil
8 1"G 1"G 22 300 Hydraulic Oil
9 1"G 1"G 22 300 Hydraulic Oil

10 1"G 1"G 22 300 Hydraulic Oil
11 1/2"G 1/2"G 12 150 Hydraulic Oil
12 1/2"G 1/2"G 12 60 Hydraulic Oil
13 1"1/4G 1"1/4G 25 60 Hydraulic Oil

 16,5 n.6 

 18° 

 26° 

 3
5°

 

 35° 

 29° 

 29° 

 23° 
 14° 

 29° 

 350 

 325 

1 2

3

4
5

6

7

8

9 10

11 12 13

 5
8 

 1
34

  2
10

 

 2
85

  3
57

 

 4
24

,5
 

 4
83

,5
 

 265 

 80 

 3
0 

 2
21

 

 5
0 

 100 

 M
10 n.4 

 1
05

 
 1

5 

 5
31

 

 6
66

 

 1"G 

 30,5 

1

3

5

7

9

11
12

13

2

4

6

8

10

12

10

8

6

4

2

N.2

 9
6  1

72
  2

48
 

 3
21

 
 3

93
 

 4
51

,5
 

 230 

 2
11

 
 5

0 

 5
0 

 2
11

 

STATOR ROTOR

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9

10
11
12


